No. of Printed Pages : 2

|

<

CC302/CE302 Roll Nb. 7 comassnsissueiin

2021
DESIGN OF STEEL STRUCTURE

fuifa wwa ;14 2R) (3Tframan 37 : 70
Time allowed : 12 Hours | [Maximum Marks : 70
Pz () ¥UHIEH IHTHE, 994 @ forgl g1 & IR S |

Note : Question No. 1 is compulsory, answer any TWO questions from the remaining.

(i) vl v & @i ypil ) FHAR TF T & HHord |
Solve all parts of a question consecutively together.
(iii) ¥% 5 F 7 g8 8 T FIfr |
Start each question 0N fresh page.
(iv) &#’wﬁﬁ'mﬁﬁmﬁwﬁmﬁm?’ /

Only English version is valid in case of difference in both the languages.

1. Frefafea 5w | quemse

Explain the following in brief :

(i) @1 AT Hi EHEd |
Explain slenderness rati-

(i) Frfive R 1 afonfya FRE
Define limit state.

(i) &ee % Hel B & TSR FTA |
Explain types of failure of bolt

(iv) 3T Ui B afefid I |
Define shape factor.

(v) T e i vs e 1 EE |

Explain throat thickness in fillet weld. (4x5)

2. () m@mﬁ%maﬁﬁaﬁmﬁ l
Explain the advantages and disadvantages of steel structures.
(i) Fafirr ST 3 wieds el 1 A |
Explain various [}fpes Of bolted jOintS. (12%"'12'/1)

(10f2) P.T.O.
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3. (1) doee SISl & WY UGy gl & G § euEse |
Explain in brief advantages and disadvantages of Welded Connections.
(i) &9 % TS YN & faF st 35 fafir= syt & am fafeu |
Draw the sketch of gusseted base of a column and name its different
components. (12%+12%)

4. 210 kN & @fsd a9 a1 % I T 39gem v s 1 3rfmpeaan HifTT | M20 Sice
<hl T <hAT 1 ST HY, £, = 250 N/mm? HTHT T Fe10 I Tiet &1 50 i |

Design a suitable angle section to carry a factored tensile force of 210 kN. Use a
single row of M20 bolts. Assume fy = 250 N/mm? and use Fe410 grade of steel. (25)

5. fafeen 4w w1 sifisegs Hifse st 3.5 m o 2 3 5@ 92 550 kN &1 7709 s
TEIR | T o gH1 R welt w9 § fewm vew fRufa § g g R | Fed 10 © Tg &1
TR |
Design a column 3.5 long, in a building subjected to a factored load of 500 kN. Both

the ends of the column are effectively restrained in direction and position. Use Fe410
grade of steel. (25)

6. 1500 kN % 7foraq 1affa sieafera R 1 984 S & foe @ ISHB 350 @ 710.2 N/m
7 TS YR &1 Afiiheqs HIfNY | w1 39 @i § @9 fafor s @y w8
TTTaRE fopan R | Wt 9|, M 20 TS % hehle MU 9@ TR |

Design a slab base for a column ISHB 350 @ 710.2 N/m subjected to a factored axial
compressive load of 1500 kN. The base rests on concrete pedestal of grade M20.
Load is transferred to the base plate by direct bearing of column flanges. (25)

7. U Yg JefEd o H 4 m wwrel fasgfa wge 40 kN &1 anfaia awsd st
2 | 9 ot rvd srerfead 2 | Sfaa @iet uw %1 stftreda HIfT | Fe 410 ©a s
# ferammn 2 |

A simply supported beam of 4 m effective span has a uniformly distributed total load

of 40 kN acting on it. Beam is laterally supported throughout. Design a suitable steel
beam. Use Fe 410 steel. (25)

8. (i) [fafire e afdaufaferd = amzmu |

Explain limit state of Serviceability.
(i) < & I ) gz |
Explain the use of Lacings.

(iii) % SATH-a Dl THIFY |
Explain web buckling. (9+8+8)



